




• Arun travels 8 km in the north direction. After this he turns left and goes 3 km 

and then turns right and goes another 4 km. Finally he turns right and walks 3 

km more. Accordingly, how far does he reach from his starting point?

• अरूण उत्तर दिशा में 8 दिमी िी यात्रा िरता ह।ै इसिे बाि बायें मडु़िर 3 दिमी जाता ह ैऔर दिर 

िायें मडु़िर 4 दिमी और जाता ह ै। अंततः िायें मडु़िर 3 दिमी और जाता ह ै। तद्नसुार, वह अपने 

प्रस्थान-दबन्ि ुसे दितनी िरू पह ुँच जाता ह ै?

A.18 दिमी

B. 15 दिमी

C. 11 दिमी

D.12 दिमी



• City M is to the south-west of city A. City A is to the west of City D. City C is 

to the north of city D. City B is to the west of City C. City B is to the north of 

city A. What is the position of city C with respect to city A?

• शहर M, शहर A िे िदिण-पदिम में ह।ै शहर A, शहर D िे पदिम में ह।ै शहर C, शहर D िे उत्तर 

में ह।ै शहर B, शहर C िे पदिम में ह।ै शहर B, शहर A िे उत्तर में ह।ै शहर A िे सन्िर्भ में शहर C 

िी दस्थदत क्या ह?ै

A.West

B. South-East

C. North

D.North-East



• A cyclist goes 30 km north, turns east and goes 40 km. After that he turns right 

and travels 20 km. Finally, he turns to his right and walks 40 km. Accordingly, 

how far is he from his starting point?

• एि साइदिल चालि 30 दिमी उत्तर दिशा में जािर, पवूभ िी ओर घमूिर 40 दिमी जाता ह।ै उसिे 

बाि वह िायें घमूिर 20 दिमी जाता ह।ै अंततः, वह अपनी िायीं ओर घमूिर 40 दिमी जाता ह ै। 

तद्नसुार, वह अपने आरंदर्ि स्थान से दितनी िरूी पर ह ै?

A.20 दिमी

B. 40 दिमी

C. 10 दिमी

D.25 दिमी



• Raju go north, then turn right and then go to the left. In which direction is Raju 

now ?

• राज ूउत्तर िी ओर जाता ह,ै दिर िाएुँ मडु़ता ह ैऔर दिर बाएुँ जाता ह।ै राज ूअब दिस दिशा में ह?ै

A.East

B. West

C. North

D.South



• If North-East is called South, South-West is called North, then which direction 

is denoted by West ?

• यदि उत्तर-पवूभ िो िदिण िहा जाए, िदिण-पदिम िो उत्तर िहा जाए, तो पदिम दिस दिशा िो 

िशाभता ह?ै

A.South-East

B. North-East

C. South-West

D.North-West



• Mahesh is facing North. He turns 180° in clockwise direction and another 45°

in the same direction and then 270°in the anticlockwise direction. In which 

direction he is facing now ? 

• महशे िा मखु उत्तर िी ओर ह।ै वह 180° िदिणावतभ दिशा में मडु़ता ह ैऔर उसी दिशा में 45° और 

दिर वामावतभ दिशा में 270° मडु़ता ह।ै अब उसिा मखु दिस दिशा िी ओर ह?ै

A.South-West

B. South-East

C. North-East

D.North-West



• One evening before sunset Mohan and Sohan were talking to each other, face to 

face. If Sohan’s shadow was exactly to the right of Sohan, which direction was 

Mohan facing ?

• एि शाम सयूाभस्त से पहले मोहन और सोहन आमने-सामने बात िर रह ेथे। यदि सोहन िी परछाई 

सोहन िे ठीि िादहनी ओर थी, तो मोहन िा मखु दिस दिशा में था?

A.North

B. South

C. East

D.None of these



• Point D is 2 km to the north of point C. Point G is 8 km to the north of point H. 

Point A is 15 km to the south of point B. Point C is 8 km to the east of point B. 

• Point E is 10 km to the north of point F which is 4 km to the west of point G. 

Point D is 4 km to the west of point E. 

• दबंि ुD, दबंि ुC िे उत्तर में 2 दिमी ह।ै दबंि ुG, दबंि ुH िे उत्तर में 8 दिमी ह।ै दबंि ुA, दबंि ुB िे 

िदिण में 15 दिमी ह।ै दबंि ुC, दबंि ुB िे पवूभ में 8 दिमी ह।ै

• दबंि ुE, दबंि ुF िे 10 दिमी उत्तर में ह,ै जो दबंि ुG िे 4 दिमी पदिम में ह।ै दबंि ुD, दबंि ुE िे 4 

दिमी पदिम में ह।ै



• Point D is 2 km to the north of point C. Point 
G is 8 km to the north of point H. Point A is 
15 km to the south of point B. Point C is 8 km 
to the east of point B. 

• Point E is 10 km to the north of point F which 
is 4 km to the west of point G. Point D is 4 
km to the west of point E. 

• दबंि ुD, दबंि ुC िे उत्तर में 2 दिमी ह।ै दबंि ुG, दबंि ुH िे 
उत्तर में 8 दिमी ह।ै दबंि ुA, दबंिु B िे िदिण में 15 दिमी 
ह।ै दबंि ुC, दबंि ुB िे पवूभ में 8 दिमी ह।ै

• दबंि ुE, दबंि ुF िे 10 दिमी उत्तर में ह,ै जो दबंि ुG िे 4
दिमी पदिम में ह।ै दबंि ुD, दबंिु E िे 4 दिमी पदिम में
ह।ै

• Find shortest distance BH. 



• Point D is 2 km to the north of point C. Point G is 

8 km to the north of point H. Point A is 15 km to 

the south of point B. Point C is 8 km to the east of 

point B. 

• Point E is 10 km to the north of point F which is 4 

km to the west of point G. Point D is 4 km to the 

west of point E. 

• दबंि ुD, दबंि ुC िे उत्तर में 2 दिमी ह।ै दबंि ुG, दबंि ुH िे उत्तर 

में 8 दिमी ह।ै दबंि ुA, दबंि ुB िे िदिण में 15 दिमी ह।ै दबंिु C, 

दबंि ुB िे पवूभ में 8 दिमी ह।ै

• दबंि ुE, दबंि ुF िे 10 दिमी उत्तर में ह,ै जो दबंि ुG िे 4 दिमी 

पदिम में ह।ै दबंि ुD, दबंि ुE िे 4 दिमी पदिम में ह।ै

• If a person after taking 2 turns reaches to point B 

from point F via point A, then what is the distance 

that he covered? 



• After walking 5 km I took another right turn and walked 3 km, then took 

another left turn and walked 8 km. At last I was going towards the south. In 

which direction did I start the journey?

• 5 दिमी चलने िे बाि मैं िायीं और मडु़ा और 3 दिमी गया, इसिे बाि बायीं और मडु़ा और 8 

दिमी चला | अन्त में मैं िदिण दिशा िी और जा रहा था | मैंने दिस दिशा में यात्रा प्रार्र् िी थी ?

A.East

B. West

C. North

D.South



• Ramesh is going straight towards east. After that he turns to the right, then turns 

to the right, then turns to the left. Tell in which direction is Ramesh going now?

• रमेश सीधे पवूभ िी ओर जा रहा ह ै| उसिे बाि वह िाएुँ मडु़ता ह ैऔर दिर िाएुँ मडु़ता ह,ै दिर बाएुँ 

मडु़ता ह ै| यह बताइये दि अब रमेश दिस दिशा में जा रहा ह ै?

A.East

B. West

C. North

D.South



• An insect can move in both front and reverse directions.  He walks in front for 3 

minutes and then reverse for 2 minutes.  He walks at a speed of 5 meters per 

minute.  At least for how long will he be able to cover 105 meters?

• एि िीट सामने और ररवसभ िोनों दिशाओ ंमें चल सिती ह ै। वह 3 दमनट ति सामने िी तरि 

चलता ह ैऔर दिर 2 दमनट िे दलए ररवसभ चलता ह ै। वह 5 मीटर प्रदत दमनट िी गदत पर चलता ह ै

। िम से िम वह दितने वक्त ति 105 मीटर ति तय िरने में सिम होंगे ?

A.105

B. 95

C. 21

D.93



• Karan, looking in the south direction, walked straight for 2 km and then took a 

right turn at 90° and walked 2 km. Finally he took a left turn at 45° and walked 

1 km. Accordingly, where is he now with respect to his starting point?

• िरन, िदिण दिशा में िखेते ह ए सीधे 2 दिमी चला और वहां से 90° पर िादहनी ओर मडु़िर 2 

दिमी आगे चला। अन्ततः वह 45° पर बाएुँ मडु़ा और 1 दिमी चला। तिनसुार, वह अब उनिे 

आरद्र्ि दबन्ि ुिी तलुना में िहाुँ हैं?

A. North-west region/ उत्तर-पदिम िेत्र

B. South-west region/िदिण-पदिम िेत्र

C. South Zone/िदिण िेत्र

D. South-East region/िदिण-पवूभ िेत्र


